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TOC KMno,
1.0 0 0.2 6.3 0 0.5
0.6 0 0.4 1.3 0 0.6
0.7 0 0.3 3.9 0.1 1.1
2 T0OC KMnO,

(mg/1) TOC KMnO, TOC KMnO, TOC KMnO, TOC KMnO,
0.0 1 10 0 0 O 0 1 10
0.1 70 10 0 0 5 1 75 11
0.2 44 36 0 1 3 0 47 37
0.3 23 34 3 2 2 3 28 39
0.4 7 1 13 1 2 0 22 2
0.5 3 13 8 8 1 0 12 21
0.6 1 16 2 5 1 4 4 25
0.7 0 0 0 0 1 0 1 0
0.8 0 10 0 5 0 1 0 16
0.9 0 4 0 2 0 1 0 7
1.0 0 0 0 0 O 0 O 0
1.1 0 9 0 0 O 0 O 9
1.2 0 1 0 1 0 0 O 2
1.3 0 3 0 1 0 0 O 4
1.4 0 2 0 0 O 1 0 3
1.5 0 0 0 0 O 0 O 0
1.6 0 0 0 0 O 1 0 1
1.7 0 0 0 0 O 0 O 0
1.8 0 0 0 0 O 0 O 0
1.9 0 0 0 0 O 1 0 1
2.0 0 0 0 0 O 0 O 0
3.1 0 0 0 0 O 1 0 1
3.9 0 0 0 0 O 1 0 1
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